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p.39, (3.2)000

0000O00(@3.2)000000 20 x140 3000000

00000032 00000030 —020 x(-1)000000

p.39,(0000)0

00000000 an=——L i=23...n an =21 i=23..n
ail aii

agood
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a22 a22
p.40, (3.3)

aE]l) = aij —+ ailalj, bz(l) = bl + Oéilbl, 7= 2, 3, N (33) 0:1(]1) = aijfolilalj; bz(l) = bi*o‘ilbla 1= 25 37 . (33)

p-40, (3.5) ) -

Qi = — EZ—I)’ Z:k+]~;k+2van (35) Qi = zlz.il)a Z:k+17k+275n (35)

Ok Qi
good good

o = a7 a6 =Y o

az('f) = az('?il)—aikaz(cl;ﬂ)a b = bV —ay,

7 (2

bl(ckq)




0 0
p4l, 0000 For i=k+1,k+2,---,n For i=k+1,k+2,---,n
ik Aik
o= —
Akk akk

For j=k+1,k+2,---,n
Qij < Q5 + Qag;

end for

b; < b; + aby

end for

For j=k+1,k+2,---,n
;5 — A — Qg

end for

bi — bi—abk

end for

p.43000 p.48 O
ooo

for( i = k+1; i <= N; i++)

{
alpha = - al[i] [k]/alk] [k];
for( j = k+1; j <= N; j++)
{
alil [j] = alil[j] + alpha * alk][j];
}

b[i] = b[i] + alpha * bl[k];

for( i = k+1; i <= N; i++)
{
alpha = al[i] [k]/alk] [k];
for( j = k+1; j <= N; j++)
{
alil[j] = alil[j] - alpha * alk][j];
}
b[i] = b[i] - alpha * bl[k];
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p.52, 0000 For i=k+1,k+2,---,n For i=k+1,k+2,---,n
ik Qi
a4 —
Gk afk
apr—a /[ Ar=0000000000000«0 000 ar+—a /[ Ar=0000000000000«0 000
OO0 LO0000000ooooooag =/ OO0 LO00000000ooooa =/
For j=k+1,k+2,---,n For j=k+1,k+2,---,n
;5 < ;5 + QQf; ;5 < Q5 — QA
end for end for
p.53, Ly = Pb For i=k+1,k+2,---,n For i=k+1,k+2,---,n
bi < b; + airbx b; < bi—a;rby
end for end for
p.55, 0000 alpha = al[i] [k]/alk] [k];
alpha = - ali] [k]/alk] [k];

ali] [k] = alpha;
for( j = k+1l; j <= N; j++)
{

alil [j] = alil[j] + alpha * alk][j];

alil[k] = alpha;
for( j = k+1; j <= N; j++)
{
alil [j] = alil[j] - alpha * alk][j];




p.55, 0000

b[i]l = b[i]l + al[il [k]*b[k];

bli] = bl[i] - alil [k]*b[k];




